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Example

1. Is the series 1,6,11,16,21,……. Is an AP?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dWg7U3ptm8Ew


2. Find AP whose first term 'a' and common difference

'd' are given below:(i)a=3,d=-2

Watch Video Solution

3. Find AP whose first term 'a' and common difference

'd' are given below:(ii)a=2,d=-1/2

Watch Video Solution

4. Find AP whose first term 'a' and common

difference 'd' are given below:(iii) a=8,d=4

Watch Video Solution

https://dl.doubtnut.com/l/_fQXmaEJAKGnf
https://dl.doubtnut.com/l/_pHxyV2bZReJj
https://dl.doubtnut.com/l/_GdOYv3OGCjV2


Watch Video Solution

5. Find AP whose first term 'a' and common difference

'd' are given below:(iv)a=1,d=1/2

Watch Video Solution

6. Find the common difference of the following AP:

(i)6,1,-4,-9,-14,…..

Watch Video Solution

https://dl.doubtnut.com/l/_GdOYv3OGCjV2
https://dl.doubtnut.com/l/_GBi11JiQzWNS
https://dl.doubtnut.com/l/_4yFpCyAcdQ87


7. Find the common difference of the following AP:

(ii)0.6,1.7,2.8,3.9,……

Watch Video Solution

8. Find the common difference of the following AP:

(iii)1/3,5/3,9/3,13/3,……

Watch Video Solution

9. Find the  and  term of the AP 3,7,11,15.

Watch Video Solution

9th 13th

https://dl.doubtnut.com/l/_pvAAvwLR0GMr
https://dl.doubtnut.com/l/_xTFy45S1pjkH
https://dl.doubtnut.com/l/_hLsOvEQnTXG1


10. Find the term of the AP 13/5,7/5,1/5,-1…….

Watch Video Solution

7th

11. Which term of the AP 4,9,14,19,…… is 124?

Watch Video Solution

12. How many terms in the series 3,6,9,12,……111?

Watch Video Solution

https://dl.doubtnut.com/l/_6BqMTm3Y7ZTq
https://dl.doubtnut.com/l/_Sm3SIm2jOYI9
https://dl.doubtnut.com/l/_6Z4tgwtgsYyy


13. The  and  term of an AP are respectively

23 and 305.Find the first term and common

difference of the AP.

Watch Video Solution

8th 102nd

14. How many numbers of two digit are divisible by

5?

Watch Video Solution

15. Which term of the AP 5,15,25,…… is 130 more than

the  term?31(th)

https://dl.doubtnut.com/l/_bzXWrZMhtWUu
https://dl.doubtnut.com/l/_9EC3ATv8XAkd
https://dl.doubtnut.com/l/_iG18JDEYnCT5


Exercise

Watch Video Solution

1. In which of the following situations,does the list of

numbers involved make an arithmetic

progression,and why?(i) The taxi fare after each km

when the fare is Rs 15 for the first km and Rs 8 for

each additional km.

Watch Video Solution

https://dl.doubtnut.com/l/_iG18JDEYnCT5
https://dl.doubtnut.com/l/_64nQMzrg78jx


2. In which of the following situations,does the list of

numbers involved make an arithmetic

progression,and why?(ii)The amount of air present in

a cylinder when a vacuum pump remove 1/4 of the air

remaining in the cylinder at a time .

Watch Video Solution

3. In which of the following situations,does the list of

numbers involved make an arithmetic

progression,and why?(iii) The cost of digging a well

after every metre of digging,when it cost Rs 150 for

https://dl.doubtnut.com/l/_16lOXa17WvHH
https://dl.doubtnut.com/l/_4XXm8Lpw2fsn


the first metre and rises by Rs 50 for each

subsequent metre.

Watch Video Solution

4. Write first four terms of the AP,when the first term

a and the common difference d are given as follows:

(i)a=10,d=10

Watch Video Solution

5. Write first four terms of the AP,when the first term

a and the common difference d are given as follows:

https://dl.doubtnut.com/l/_4XXm8Lpw2fsn
https://dl.doubtnut.com/l/_fDvvfHogKS5Z
https://dl.doubtnut.com/l/_ZxXAmGddLCn9


(ii)a=-2,d=0

Watch Video Solution

6. Write first four terms of the AP,when the first term

a and the common difference d are given as follows:

(iii)a=4,d=-3

Watch Video Solution

7. Write first four terms of the AP,when the first term

a and the common difference d are given as follows:

(iv)a=-1,d=1/2

W h Vid S l i

https://dl.doubtnut.com/l/_ZxXAmGddLCn9
https://dl.doubtnut.com/l/_SyhODNB2kXlE
https://dl.doubtnut.com/l/_s59e4utzdS5q


Watch Video Solution

8. Write first four terms of the AP,when the first term

a and the common difference d are given as follows:

(v) a=-1.25,d=-0.25

Watch Video Solution

9. For the following AP s,write the first term and the

common difference:(i)3,1,-1,-3,…..

Watch Video Solution

https://dl.doubtnut.com/l/_s59e4utzdS5q
https://dl.doubtnut.com/l/_259FxRmt48in
https://dl.doubtnut.com/l/_EbkBjYWgZzB6


10. For the following AP s,write the first term and the

common difference:(ii)-5,-1,3,7,……

Watch Video Solution

11. For the following AP s,write the first term and the

common difference:(iii)1/3,5/3,9/3,13/3……

Watch Video Solution

12. For the following AP s,write the first term and the

common difference:(iv)0.6,1.7,2.8,3.9,…….

Watch Video Solution

https://dl.doubtnut.com/l/_RRTSGRjziz6g
https://dl.doubtnut.com/l/_gprSJD0rrdXm
https://dl.doubtnut.com/l/_XeFaupNDCc06


Watch Video Solution

13. Which of the following are APs ?If they form an

AP,find the common difference d and write three

more terms.(i)2,4,8,16,….

Watch Video Solution

14. Which of the following are APs ?If they form an

AP,find the common difference d and write three

more terms.(ii) 2,5/2,3,7/2,…

Watch Video Solution

https://dl.doubtnut.com/l/_XeFaupNDCc06
https://dl.doubtnut.com/l/_KgwDjnbvUK5D
https://dl.doubtnut.com/l/_El0t7cgj0MQX
https://dl.doubtnut.com/l/_W3htoA6Od9Pw


15. Which of the following are APs ?If they form an

AP,find the common difference d and write three

more terms.(iii)-1.2,-3.2,-5.2,-7.2,……

Watch Video Solution

16. Which of the following are Aps ?If they form an

AP,find the common difference d and write three

more terms.(iv)-10,-6,-2,2,……

Watch Video Solution

https://dl.doubtnut.com/l/_W3htoA6Od9Pw
https://dl.doubtnut.com/l/_InW43oksd11x


17. Which of the following are Aps ?If they form an

AP,find the common difference d and write three

more terms.(v)

Watch Video Solution

3, 3 + √2, 3 + √2, 3 + 3√2, ….

18. Which of the following are APs ?If they form an

AP,find the common difference d and write three

more terms.(vi)0.2,0.22,0.222,0.2222,…..

Watch Video Solution

https://dl.doubtnut.com/l/_96KfKw0EHsve
https://dl.doubtnut.com/l/_lNcUP9jTd6pu


19. Which of the following are Aps ?If they form an

AP,find the common difference d and write three

more terms.(vii) 0,-4,-8,-12,….

Watch Video Solution

20. Which of the following are APs ?If they form an

AP,find the common difference d and write three

more terms.(viii)-1/2,-1/2,-1/2,-1/2,……

Watch Video Solution

https://dl.doubtnut.com/l/_MtTg2NTEPspw
https://dl.doubtnut.com/l/_97VWm3K7Zb5H


21. Which of the following are Aps ?If they form an

AP,find the common difference d and write three

more terms.(ix)1,3,9,27,…..

Watch Video Solution

22. Which of the following are APs ?If they form an

AP,find the common difference d and write three

more terms.(x) a,2a,3a,4a,……

Watch Video Solution

https://dl.doubtnut.com/l/_t6d3yk6gLCFn
https://dl.doubtnut.com/l/_ltLzQcDqd2qO


23. Which of the following are APs ?If they form an

AP,find the common difference d and write three

more terms.(xi)

Watch Video Solution

a, a2, a3, a4, …. .

24. Which of the following are APs ?If they form an

AP,find the common difference d and write three

more terms.(xii)

Watch Video Solution

√2, √8, √18, √32, ….

https://dl.doubtnut.com/l/_1LKu7iT3V6pm
https://dl.doubtnut.com/l/_YrcZPW81uqzQ


25. Which of the following are Aps ?If they form an

AP,find the common difference d and write three

more terms.(xiii) 

Watch Video Solution

√3, √6, √9, √12, …

26. Which of the following are APs ?If they form an

AP,find the common difference d and write three

more terms.(xiv)

Watch Video Solution

12, 32, 52, 72, …….

https://dl.doubtnut.com/l/_dj49sbNNBcZW
https://dl.doubtnut.com/l/_B7r9tHYF7oR5


27. Which of the following are Aps ?If they form an

AP,find the common difference d and write three

more terms.(xv)

Watch Video Solution

12, 52, 72, 73, …. .

28. Fill in the blanks in the following table,given that

a is the first term,d the common difference and 

the term of the AP:

Watch Video Solution

an

https://dl.doubtnut.com/l/_sB3KMJRl1Nb7
https://dl.doubtnut.com/l/_64DdZoTbhPze


29. Choose the correct choice in the following and

justify:(i) 30th term of the AP:10,7,4,….. Is 

a)97
b)77
c)-77
d)-87

A. 97

B. 77

C. -77

D. -87

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_64DdZoTbhPze
https://dl.doubtnut.com/l/_6c9r38OckT1f
https://dl.doubtnut.com/l/_eENQtOhwFvKe


30. Choose the correct choice in the following and

justify:(ii) 11th term of the AP: -3,-1/2,2,….,is 

a)28
b)22
c)-38
d)-48

A. 28

B. 22

C. -38

D. 

Answer:

Watch Video Solution

−48( )
1

2

https://dl.doubtnut.com/l/_eENQtOhwFvKe


31. In the following APs ,find the missing terms in the

boxes:

Watch Video Solution

32. In the following Aps ,find the missing terms in the

boxes:

https://dl.doubtnut.com/l/_oRVOMFYU5t8a
https://dl.doubtnut.com/l/_CIUOarK9b2h8


Watch Video Solution

33. In the following Aps ,find the missing terms in the

boxes:

Watch Video Solution

34. In the following APs ,find the missing terms in the

boxes:

W t h Vid S l ti

https://dl.doubtnut.com/l/_CIUOarK9b2h8
https://dl.doubtnut.com/l/_CXpVyarsSPA3
https://dl.doubtnut.com/l/_YMvmsUVClCwH


Watch Video Solution

35. In the following APs ,find the missing terms in the

boxes:

Watch Video Solution

36. Which term of the AP:3,8,13,18,…..78?

Watch Video Solution

https://dl.doubtnut.com/l/_YMvmsUVClCwH
https://dl.doubtnut.com/l/_QWyGxofRb2yX
https://dl.doubtnut.com/l/_p40z9FQzJxw9


37. Find the number of terms in each of the following

APs :(i)7,13,19,…..,205.

Watch Video Solution

38. Find the number of terms in each of the following

APs :(ii)18,15(1/2),13,….,-47

Watch Video Solution

39. Check whether -150 is a term of the AP:11,8,5,2,……

Watch Video Solution

https://dl.doubtnut.com/l/_FHFHFymS88we
https://dl.doubtnut.com/l/_FTxdeKlvIgrj
https://dl.doubtnut.com/l/_RjTrCHxaGeVb


40. Find the 31st term of an AP whose 11th term is 38

and the 16th term is 73.

Watch Video Solution

41. An AP consists of 50 terms of which 3rd term is 12

and the last term is 106.Find the 29th term.

Watch Video Solution

42. If the 3rd and the 9th terms of an AP are 4 and-8

respectively,which term of this AP is zero ?

Watch Video Solution

https://dl.doubtnut.com/l/_ZxgeOZzlvkUG
https://dl.doubtnut.com/l/_L4OmiAtI4YEq
https://dl.doubtnut.com/l/_thH1C9tdKbHo


Watch Video Solution

43. The 17th term of an AP exceeds its 10th term by

7.Find the common difference.

Watch Video Solution

44. Which term of the AP: 3,15,27,39,…. Will be 132

more than its 54th term?

Watch Video Solution

https://dl.doubtnut.com/l/_thH1C9tdKbHo
https://dl.doubtnut.com/l/_Gax9xS67JSh5
https://dl.doubtnut.com/l/_7W6ZVvN1gvhy


45. Two AP s have the same common difference.The

difference between their 100th terms is 100,what is

the difference between their 1000th terms?

Watch Video Solution

46. How many three-digit numbers are divisible by 7?

Watch Video Solution

47. How many muliples of 4 lie between 10 and 250?

Watch Video Solution

https://dl.doubtnut.com/l/_Axav3SeRXzbU
https://dl.doubtnut.com/l/_SYEleMbqMSPf
https://dl.doubtnut.com/l/_ZUcBzWtiffIb


48. For what value of n are the nth terms of two AP

:63,65,67,…..and 3,10,17,….equal?

Watch Video Solution

49. Determine the AP whose third term is 16 and the

7th term exceeds the 5th term by 12.

Watch Video Solution

50. Find the 20th term from the last term of the

AP:3,8,13,….243.

Watch Video Solution

https://dl.doubtnut.com/l/_CofdZdkmSVMB
https://dl.doubtnut.com/l/_7Y5Zd511rWba
https://dl.doubtnut.com/l/_K8tEqTByWmbh


Watch Video Solution

51. The sum of the 4th and 8th terms of an AP is 24

and the sum of the 6th and 10th terms is 44.Find the

first three terms of the AP.

Watch Video Solution

52. Subba Rao started work in 1995 at an annual

salary of ₹ 5000 and received an increment of ₹ 200

each year.In which year did his income reach ₹ 7000?

Watch Video Solution

https://dl.doubtnut.com/l/_K8tEqTByWmbh
https://dl.doubtnut.com/l/_3nfUMjrysfn6
https://dl.doubtnut.com/l/_gCPKMyGnp3Rz
https://dl.doubtnut.com/l/_2GfMaTkHBWje


53. Ramkali saved ₹ 5 in the first week of a year and

then increased her weekly savings by ₹ 1.75.If in the

week,her weekly saving become ₹20.75.Find n.

Watch Video Solution

54. Find the sum of the following AP s:(i) 2,7,12,…..to

10 terms.

Watch Video Solution

55. Find the sum of the following AP s:

(ii)-37,-33,-29,…..to 12 terms.

https://dl.doubtnut.com/l/_2GfMaTkHBWje
https://dl.doubtnut.com/l/_4fvs1Z5WvOvM
https://dl.doubtnut.com/l/_ghZLtcNZBveo


Watch Video Solution

56. Find the sum of the following AP s:

(iii)0.6,1.7,2.8,….to 100 terms

Watch Video Solution

57. Find the sum of the following AP s:

(iv)1/15,1/12,1/10,……to 12 terms.

Watch Video Solution

https://dl.doubtnut.com/l/_ghZLtcNZBveo
https://dl.doubtnut.com/l/_rgYin87Bsl50
https://dl.doubtnut.com/l/_2awwZA11Qeeu


58. Find the sums given below :(i)

Watch Video Solution

7 + 10( ) + 14 + …. . + 84
1

2

59. Find the sums given below :(ii)34+32+30+….+10

Watch Video Solution

60. Find the sums given below :(iii)-5+(-8)+(-11)+…..+

(-230)

Watch Video Solution

https://dl.doubtnut.com/l/_BO1XpDcaICHk
https://dl.doubtnut.com/l/_shhbbEskKaQR
https://dl.doubtnut.com/l/_huQTWZDyigmx


61. In an AP:(i) given a=5,d=3, ,find n and 

Watch Video Solution

an = 50 Sn

62. In an AP:(ii) given a=7, ,find d and .

Watch Video Solution

a13 = 35 S13

63. In an AP:(iii) given ,d=3,find a and .

Watch Video Solution

a12 = 37 S12

https://dl.doubtnut.com/l/_huQTWZDyigmx
https://dl.doubtnut.com/l/_5UHUa9d3Q6hX
https://dl.doubtnut.com/l/_HQilf3vtHknj
https://dl.doubtnut.com/l/_pwnrTeZ9S9Ur


64. In an AP:(iv)given ,find d and 

Watch Video Solution

a3 = 15, S10 = 125

a10

65. In an AP:(v) given d=5, ,find a and .

Watch Video Solution

S9 = 75 a9

66. In an AP:(vi) given a=2,d=8, ,find n and 

Watch Video Solution

Sn = 90 an

https://dl.doubtnut.com/l/_x8nDZ6XuSmL5
https://dl.doubtnut.com/l/_pIaalHT9fNDK
https://dl.doubtnut.com/l/_Ty1K7d2Rq6Aj
https://dl.doubtnut.com/l/_Yt9V0azFg0nK


67. In an AP:(vii) given a=8, ,find n

and d

Watch Video Solution

an = 62, Sn = 210

68. In an AP:(viii) given 

,find n and a.

Watch Video Solution

an = 4, d = 2, Sn = − 14

69. In an AP:(ix)given a=3,n=8,S=192,find d.

Watch Video Solution

https://dl.doubtnut.com/l/_Yt9V0azFg0nK
https://dl.doubtnut.com/l/_c4D5qhGZYuPT
https://dl.doubtnut.com/l/_IN950REzli29
https://dl.doubtnut.com/l/_1WNRMSHVWlJe


70. In an AP:(x)given l=28,S=144,and there are total 9

terms.Find a.

Watch Video Solution

71. How many terms of the AP:9,17,25,….. Must be

taken to give a sum of 636?

Watch Video Solution

72. The first term of an AP is 5,the last term is 45 and

the sum is 400.Find the number of terms and the

common difference.

https://dl.doubtnut.com/l/_1WNRMSHVWlJe
https://dl.doubtnut.com/l/_qguuCPXlhGLO
https://dl.doubtnut.com/l/_hXv56dRQXNjr


Watch Video Solution

73. The first and last terms of an AP are 17 and 350

respectively.If the common difference is 9,how many

terms are there and what is their sum?

Watch Video Solution

74. Find the sum of first 22 terms of an AP in which

d=7 and 22nd terms is 149.

Watch Video Solution

https://dl.doubtnut.com/l/_hXv56dRQXNjr
https://dl.doubtnut.com/l/_TP6CwJF3LQ17
https://dl.doubtnut.com/l/_itFzeLhxnDBv
https://dl.doubtnut.com/l/_fdDhSUoROW9J


75. Find the sum of first 51 terms of an AP whose

second and third terms are 14 and 18 respectively.

Watch Video Solution

76. If the sum of 7 terms of an AP is 49 and that of 17

terms is 289,find the sum of n terms.

Watch Video Solution

77. Show that ,..form an AP where  is

defined as below:(i)  Also,find the sum of

the first 15 terms in each case.

h id l i

a1, a2, …. . an an

an = 3 + 4n

https://dl.doubtnut.com/l/_fdDhSUoROW9J
https://dl.doubtnut.com/l/_v40KnSnJGVeC
https://dl.doubtnut.com/l/_7VepnScUgxdl


Watch Video Solution

78. Show that ,..form an AP where  is

defined as below:(i)  Also,find the sum of

the first 15 terms in each case.

Watch Video Solution

a1, a2, …. . an an

an = 9 − 5n

79. If the sum of the first n terms of an AP is 

,what is the first term(that is )?What is the sum of

first two terms?What is the second term?

Similarly,find the 3rd,the 10th and nth terms.

Watch Video Solution

4n − n2

S1

https://dl.doubtnut.com/l/_7VepnScUgxdl
https://dl.doubtnut.com/l/_Btj3S9n7AU1I
https://dl.doubtnut.com/l/_wdUYghoAslHJ


80. Find the sum of the first 40 positive integers

divisible by 6.

Watch Video Solution

81. Find the sum of the first 15 muliples of 8.

Watch Video Solution

82. Find the sum of all the odd numbers between 0

and 50.

Watch Video Solution

https://dl.doubtnut.com/l/_wdUYghoAslHJ
https://dl.doubtnut.com/l/_1ZW1yI1A09xe
https://dl.doubtnut.com/l/_0Q8nPhKsRTDe
https://dl.doubtnut.com/l/_dgvNL4fBzoYt


83. A contract of construction job specifies a penalty

for delay of completion beyond a certain date as

follows:₹200 for the first day,₹250 for the second day,

₹300 for the thrid day etc.the penalty for each

succeeding day being ₹50 more than for the

preceding day.How much does a delay of 30 days

cost the contractor?

Watch Video Solution

84. A sum of ₹700 is to be used to given seven cash

prizes to students of a school for their overall

https://dl.doubtnut.com/l/_dgvNL4fBzoYt
https://dl.doubtnut.com/l/_6UJUNJBd2G8X
https://dl.doubtnut.com/l/_6TudVmB4s4dn


academic performance.If each prize is ₹20 less than

its preceding prize,find the value of each of the

prizes.

Watch Video Solution

85. In a school,students thought of planting tress in

and around the school to reduce air pollution.It was

decided that the number of trees that each section

of each class will plant will be the same as the class

in which they are studing e.g.a section of I class will

plant 1 tree,a section of II class will plant 2 trees and

so on,a section of XII class will plant 12 trees.There

https://dl.doubtnut.com/l/_6TudVmB4s4dn
https://dl.doubtnut.com/l/_BJzvrvNnySIn


are three sections of each class. Find out how many

trees were planted.

Watch Video Solution

86. A spiral is made up of successive semicircles,with

centers alternately at A and B,starting with centre at

A,of radio 0.5 cm,1.0 cm,1.5 cm,2.0 cm,….as shown in

fig.What is the total length of such a spiral made up

https://dl.doubtnut.com/l/_BJzvrvNnySIn
https://dl.doubtnut.com/l/_uyYY03AFHSQS


of thirteen consecutive semicircles (Take )


Watch Video Solution

π =
22

7

87. 200 logs are stacked in the following maner:20

logs in the bottom row,19 in the next row,18 in the

row next to it and so on (see figure).In how many

rows the 200 logs are placed and how many logs are

https://dl.doubtnut.com/l/_uyYY03AFHSQS
https://dl.doubtnut.com/l/_b11h7rru1QPi


in the top row?

Watch Video Solution

88. In a potato race a bucket is placed at the starting

point which is 5 m from the first potato and the

other potatoes are placed 3 m apart in a straight

line.There are ten potatoes in the line(see fig.below).

A

competitors starts from the bucket picks up the

nearest potato,runs back with it,drops it in the

https://dl.doubtnut.com/l/_b11h7rru1QPi
https://dl.doubtnut.com/l/_y72jZVNibgiW


bucket,runs back up the next potato,runs to the

bucket to drop it in and she continues in the same

way until all the potatoes are in the bucket.What is

the distance the competitor has to run?

Watch Video Solution

89. Which term of the AP:121,117,113,….,is its first

negative term?

Watch Video Solution

https://dl.doubtnut.com/l/_y72jZVNibgiW
https://dl.doubtnut.com/l/_s30OS8vMozyq


90. The sum of the third and the seventh terms of an

AP is 6 and their product is 8.Find the sum of first

sixteen terms of the AP.

Watch Video Solution

91. A ladder has rungs 25 cm apart.(see Fig.)The

rungs decrease uniformly in length from 45 cm at

the bottom to 25 cm at the top.If the top and the

bottom rungs are `2(1/2)m'apart.What is the length

https://dl.doubtnut.com/l/_ZTlozAPpR4D2
https://dl.doubtnut.com/l/_cEjgueblZJVZ


of the wood required for the rungs?

Watch Video Solution

https://dl.doubtnut.com/l/_cEjgueblZJVZ


a c  deo So u o

92. The houses of a row are numbered consecuitively

from 1 to 49.Show that there is avalue of x such that

the sum of the numbers of the houses preceding the

house numbered x is equal to the sum of the

numbers of the houses following it.Find the value of

x.

Watch Video Solution

93. Define arithmetic Progression.

Watch Video Solution

https://dl.doubtnut.com/l/_cEjgueblZJVZ
https://dl.doubtnut.com/l/_iFVctiyGRF65
https://dl.doubtnut.com/l/_oS3KG55PNXan


94. Find the nth term of 6,8,10,….

Watch Video Solution

95. Write the common difference of an A.P.Whose nth

term is 

Watch Video Solution

an = 3n + 7

96. The first term of an AP.is 6 and the common

difference is 2,then determine the 15th term.

Watch Video Solution

https://dl.doubtnut.com/l/_oS3KG55PNXan
https://dl.doubtnut.com/l/_AAajxoG7hkFl
https://dl.doubtnut.com/l/_xTIxJpIbRo3x
https://dl.doubtnut.com/l/_5n1xJeSDLKwi


97. Find the 20th term from the last term of the

AP:3,8,13,….253.

Watch Video Solution

98. Find the value of x if 2x,x+10 and 3x+2 are in A.P.

Watch Video Solution

99. If x,2x+p and 3x+6 are three consecutive terms of

an A.P.then find the value of p.

W t h Vid S l ti

https://dl.doubtnut.com/l/_5n1xJeSDLKwi
https://dl.doubtnut.com/l/_cxjseOxv1JW8
https://dl.doubtnut.com/l/_3SYOxwrh5XzC
https://dl.doubtnut.com/l/_Qd9v3bM4lGvC


Watch Video Solution

100. Find the sum of first n even natural numbers.

Watch Video Solution

101. Find the sum of first twelve multiple of 7.

Watch Video Solution

102. If the sum of n terms of an A.P is 

then find the Common difference:

Watch Video Solution

Sn = 3n2 + 5n

https://dl.doubtnut.com/l/_Qd9v3bM4lGvC
https://dl.doubtnut.com/l/_LHhSsezT6V9A
https://dl.doubtnut.com/l/_e1SzHSaUkOWh
https://dl.doubtnut.com/l/_nRs6OIYBLpdn


103. If 4/5,a,2 are three consecutive terms of an

A.P.then a=


a) 
b) 
c) 
d)5

A. 

B. 

C. 

D. 5

Answer:

Watch Video Solution

5

4

9

5

7

5

5

4

9

5

7

5

https://dl.doubtnut.com/l/_nRs6OIYBLpdn
https://dl.doubtnut.com/l/_xvNXIjBDVMac
https://dl.doubtnut.com/l/_p8IW8OMY2D9z


104. The first term of an AP is a and its common

difference is d then its 10th term will be 

a)d+10a
b)a+10d
c)a+9d
d)d+9a

A. d+10a

B. a+10d

C. a+9d

D. d+9a

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_p8IW8OMY2D9z


105. Which term of the A.P.72,63,54,….is '0'?


a)9th
b)8th
c)10th
d)11th

A. 9th

B. 8th

C. 10th

D. 11th

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_E1WrQhWJOfVq


106. The first two terms of an AP are -5 and 6.Its 21st

term will be___

a)215
b)-215
c)115
d)-115

A. 215

B. -215

C. 115

D. -115

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ImPAhSDLm2Yy


107. The next term of the AP will

be

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√2, √8, √18, ….

√32

√107

√108

√147

https://dl.doubtnut.com/l/_xRmk6Al5d1pF


108. The next term of the AP will

be

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√27, √48, √75, ….

√105

√107

√108

√147

https://dl.doubtnut.com/l/_Vu4CnKSRI0kr


109. If the nth term of an AP is (3n+5) then its

common difference is

a)2
b)3
c)4
d)5

A. 2

B. 3

C. 4

D. 5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hjtIVSNSFfBr


110. The 4th term from the end of the A.P.-11,-8,-5,….49

is

a)37
b)40
c)43
d)58

A. 37

B. 40

C. 43

D. 58

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_GJ7JOcxpPlGI


111. The sum of first 16 term of the AP 10,6,2,….will be 

a)320
b)-320
c)-352
d)400

A. 320

B. -320

C. -352

D. 400

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_M5gOg5JCWyyR


112. How many terms of the AP.3,7,11,15,….will make the

sum 406____

a)10
b)12
c)14
d)40

A. 10

B. 12

C. 14

D. 40

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_M4uZxIlEVXUV


113. The sum of first 20 terms of the AP:1,3,5,7,9,…..is 

a)264
b)400
c)472
d)563

A. 264

B. 400

C. 472

D. 563

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_UEgJnNAulFGT


114. The sum of n terms of the A.P.

is


a)1/2n(n+1)
b)2n(n+1)
c)1
d)

A. 1/2n(n+1)

B. 2n(n+1)

C. 1

D. 

Answer:

Watch Video Solution

√2, √8, √18, √32, ….

n(n + 1)
1

√2

n(n + 1)
1

√2

https://dl.doubtnut.com/l/_P0aWBAbgtbLC


115. The sum of first n odd natural number is

A. 

B. 2n+1

C. 2n-1

D. 

Answer:

Watch Video Solution

n2

n2 − 1

116. The sum of first 100 natural number is

a)5000
b)4950
c)5050
d)5150

https://dl.doubtnut.com/l/_kniIDmFsFk0q
https://dl.doubtnut.com/l/_XuD7jmcl7hbz


A. 5000

B. 4950

C. 5050

D. 5150

Answer:

Watch Video Solution

117. The sum of all 2-digit numbers divisible by 5 is 

a)945
b)1035
c)1230
d)1245

A. 945

https://dl.doubtnut.com/l/_XuD7jmcl7hbz
https://dl.doubtnut.com/l/_ba0nluuNloyu


B. 1035

C. 1230

D. 1245

Answer:

Watch Video Solution

118. If4, are in A.P then =


a)19
b)22
c)23
d)Cannot be determined

A. 19

B. 22

x1, x2, x3, 28 x3

https://dl.doubtnut.com/l/_ba0nluuNloyu
https://dl.doubtnut.com/l/_IlD8o7Y0yVqI


C. 23

D. Cannot be determined

Answer:

Watch Video Solution

119. If the first,second and last term of an AP are a,b

and 2a respectively,its sum is

A. 

B. 

C. 

ab

b − a

2ab

2(b − a)

3ab

2(b − a)

https://dl.doubtnut.com/l/_IlD8o7Y0yVqI
https://dl.doubtnut.com/l/_MdTuhrG7jfgX


D. None of these

Answer:

Watch Video Solution

120. If

S_2n=3S_n S_3n:S_n` is equal to

A. 4

B. 6

C. 8

Snde¬esthe∑ ofthefirstntermsofanAP and if

then

https://dl.doubtnut.com/l/_MdTuhrG7jfgX
https://dl.doubtnut.com/l/_92uDYFZKmSIV


D. 10

Answer:

Watch Video Solution

121. The nth term of an A.P the sum of whose n term

is  is____

A. 

B. 

C. 

D. 

Sn

Sn + Sn− 1

Sn − Sn+ 1

Sn − Sn− 1

Sn − Sn+ 1

https://dl.doubtnut.com/l/_92uDYFZKmSIV
https://dl.doubtnut.com/l/_MtiN31NJJMgl


Answer:

Watch Video Solution

122. If  are in A.P then the

value of x will be

a)1
b)2
c)3
d)5

A. 1

B. 2

C. 3

D. 5

, ,
1

x + 2

1

x + 3

1

x + 5

https://dl.doubtnut.com/l/_MtiN31NJJMgl
https://dl.doubtnut.com/l/_pBxLVOsETMul


Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_pBxLVOsETMul

